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1. Proposition 328
W e s AR B ) A S RS R B TR R A SR AT

ATFERREATR:
Which choice most effectively establishes the main idea of the passage?

Which choice best supports the main point of the paragraph?

R L PR B 22 S R o S R AU s 0 R [ BT B UL A B B ) T ) e R vk
AL H KT I A SC R AR A S e R AR S AL AR AR AR AR B R AR AR A T A0 2R S E AR
o T B AN B S B AT RS e e e TR A H X SCE R A TR AR S Sk
KA, X B UL s B i 18] S B b 50 4R 32 BE A UL R R 5 U AR R — TR DO AL B B R AT
Be R A5 4] B AT BT L1k AP R R B TR R i 1 | O 2R AT DT SR

B 1. Which choice most effectively establishes the main idea of the passage?
A) NO CHANGE
B) Mudskippers are so well adapted to the land that they are sometimes mistaken for
frogs or snakes by people who are unused to seeing fish out of the water.
C) Mudskippers serve as a living example of how aquatic animals adapted to life on the
land hundreds of millions of years ago.
D) This adaptation allows mudskippers to survive in conditions that are inhospitable to
animals that depend on just one mode of respiration.
FRAT 2 B0 SO B UROUL R B ), N R SE A SC R AR A, (R AR AL 2 3 W i 4 B
Mudskippers., 754 A B HABA ZUF B . R B8 Se A 80X 8 5058 J5 T BT A A H S . b R iz B
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JEM N EZENH T mudskipper BB AE A 4 19 I8 B AL G, 72K P FBA KE O T ERREAEAE, &
A4 T bimodal respiration, fif L R A D BE 51t #1 T SCHE 7] , adaptation 1 respiration, £ & A 45
E

5/ 2. The committee was charged with saving the tower without ruining its aesthetic, 18

which no one had yet managed to achieve. The committee’s first attempt to reduce the angle of the

tower’s tilt—placing 600 tons of iron ingots (molded pieces of metal) on the tower’s north side to
create a counterweight—was derided because the bulky weights ruined the tower’s appearance. The
attempt at a less visible solution—sinking anchors into the ground below the tower—almost caused
the tower to fall.
Which choice best supports the main point of the paragraph?
A) NO CHANGE.
B) although not everyone on the committee agreed completely about what that aesthetic was.
C) which meant somehow preserving the tower’s tilt while preventing that tilt from increasing
and toppling the tower.
D) which included the pristine white marble finish that has come to be widely associated with
the tower’s beauty.
FRA < B AL FIT A 35 23 O P s — A S DR AP R AN R, 5 — R T LA 4 S AR AN R G
S e TR B G A A A G, RAT C BB IIAT & 4 35 RO BURE, ELRH I8 B R EESS . 5 )5 SCAY I8 D B
AT A B A A B A OG I . X TE AR 2[Rl 2 2 ik AL T A T0 3R 3K 19 2 B MR B A i 31 i
PG TR G SO A R IT .

f17% 3. From its beginning, the movement 26 had opposed the standardization of taste that
fast food chains promote. For example, a McDonald’s hamburger made in Boston tastes more or
less the same as one made in Beijing. This consistency is made possible by industrial mass
production. Slow Food supporters, by contrast, back methods of growing and preparing food
based on regional culinary traditions. When produced using traditional methods, goat cheese made
in France tastes different from goat cheese made in Vermont. A goat ingests the vegetation

particular to the meadow in which it grazes, which, along with other environmental 27 factors

such as altitude and weather shapes the cheese’s taste and texture. If all foods were produced under

the industrial model, 28 we would have meals that are not very flavorful.

Which choice most effectively supports the central point of the paragraph?

A) NO CHANGE

B) The public would not be interested in learning about traditional foods.

C) People would not be able to determine how a particular food was made.

D) Consumers would lose this diversity of flavors.

FRAT ML A B 7 T BRI AR B s A, 5 — AR WL R TR B ) T B 2 T Y
Bl )5 AT AR AR R . S — A A R R N — T AR 1A 9 Bl it sk PR ol B 2 48 B IR
ERPRHEA D IR B 2k EIRE W ZHME W XSS e ARABNER,

2. Support 3ZFEFE SO AL
ISIN B 2 AR B RE SRR SCE L S B E K N2
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BTFERREAK:

Which choice provides a second supporting example that is most similar to the first example in
the sentence?

At this point, the writer wants to add a supporting example that is consistent with the types of
other examples provided. Which choice most effectively accomplishes this goal?

Which choice adds the most relevant supporting information to the paragraph?

iR 8RB B 2 R AR A I R SRR IR OSC R IR A E R AN R S E
A YT XEFR . e I SR BR AT & J5 P25 BT SR TR FR, L 25 B 8 5 4 BT A /Y focus.

I/ 1: The haenyeo used to dive wearing only thin cotton gowns so as not to inhibit their

movements with extraneous 26 equipment they didn’t need. Today, they wear wet suits for

protection from the cold and 27 still dive without assistance and without being tethered to a buoy.

Which choice provides a second supporting example that is most similar to the first example in
the sentence?

A) NO CHANGE

B) The water can be as cold as 45 to 50 degrees Fahrenheit.

C) Swimming fins for increased speed in the water.

D) These wet suits allow them to swim in cold water comfortably.

FRAT  ZORARAEEE — A0 B AT SC B 225 1 — 011 b AU 30 1A S %t Bk L i £ 4 i 7 A
A~ and, FINIEWI T EXFR, AT SCR S T xxx for FEFPIIEE B 4 2 4b B 45316 +% C 1Y xxx for 75 —Fh
e .

IR 2. While diving, they leave a taewak floating on the water’s surface. This device serves
several purposes: It can be a beacon to the divers below, signaling their return point. 29 It is also

a place to which divers can attach nets for storing their catch while they make additional dives. On

good days, the haenyeo return to shore with these nets full.

At this point, the writer wants to add a supporting example that is consistent with the types of
other examples provided. Which choice most effectively accomplishes this goal?

A) It can be used as a floatation device when divers need a rest.

B) It is sometimes decorated with a brightly colored design.

C) It can be seen bobbing on the water’s surface.

D) It can be useful in a number of ways.

PR AT « SR P A — 491 3 R AT SC B X R iSO B B A B2 it can be, JIR 4 3 ) L A 5B
N —BEEHRR BRI, D ARGIT MR, Wl IR . B B8 & 25 T — 4% EiE X
IR R 1 SCH T YFRY & beacon YIIRE . C YFIRTEA A M7 AT LIE BB, A A JF9J2 beacon Y
71— IIhE.

B & 3:Given the extent of Tweed’s power, it is remarkable that a single cartoonist could have
played such a significant role in bringing about his downfall. Nast’s cartoons depicted Tweed as a
great big bloated thief. One of the artist’s most 18 famous images showed Tweed with a bag of

money in place of his 19 head.

Which choice adds the most relevant supporting information to the paragraph?

o« G o
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A) head; like many other Nast cartoons. that one was published in Harper’s Weekly.

B) head; Nast would later illustrate Tweed’s escape from prison.

C) head, one depiction that omits Tweed’s signature hat.

D) head, an image that perfectly captured Tweed’s greedy nature.

FRAT < AT R SRR AR B ARG T BUVR 5 B B ZR AL AT 75 A9 & Tweed BRI IE R 2 —
18 1 /M o B R 24 T Rt — RAR T RO R e 17 I A I 4%, RO SILHE S 2 i Ao, HOfF D 3k I
fiE. AB.C IR FE B R ST I AT B LR FE M E A

513 4. The next day, a front-page headline in the New York Times declared,“Radio Listeners
in Panic, Taking War Drama as Fact.” 35 The Times article claimed that people had fled their

homes and that police stations had been swamped with calls.

The writer wants to add a supporting detail to indicate that the story was widely reported.
Which choice best accomplishes this goal?
A) NO CHANGE
B) Other newspapers also ran stories claiming that the broadcast had incited mass hysteria.
O In 2013, many newspapers and magazines featured articles about the seventy-fifth anniversary of
the broadcast.
D) The Times was then and is now one of the United States’ most popular news sources.
P AT X U EOR SRR AR BT R A5 R B ) Tz A X R E A TR, A YRR 2 AR
JA 3K — R AR AR 0 A5 T IZ 4R0E 5 B 475 2R AR 2 M AUTE i E X — 0 C PR 2 1R 2 4t
e (HHRTE B N 28 02 AT 4 R 4R DL R R J2 3k — W3 s D2 if AR B9 3% g, s+ 225K 55
AAF

3. Focus &= P dy i3
I AB AR O B 5 SR B A RN

AFERRBETK .
At this point, the writer is considering adding the following sentence. Should the writer make

this addition here?

iR 8RB B 22 AR B BOR B A A A AT SCHY B ZERL Ak A 2 B R AR L . [
I S SR 14 e 0 A0 R 5 — 20 A AT LR SR MG T S Bk B R0 1 TR N RS AR R AT, g
Bril 28 BT AT focus JEAT A AR5 H 7 XA ZORIG I s BR /9 5 5, B AN = AE R — 4> focus HL, B
WikH S . W T 28 KT 1) I 5 B 22 )5, oo 5 22 A DT 30 I v ok 7 7 1) 326 IO L ) PN A A AE A, R T R
PR A 3 A By B M 5 A 1, BRI BT IE @ P . ARG PR T IE A 1

5/ 1. This lifestyle also gives them the ability to search farther and in more diverse locales
than other organisms in the hunt for food. reproductive opportunities, and optimal environmental
conditions. 11

At this point, the writer is considering adding the following sentence. G# 11)

Because conditions vary both from region to region and over time within a given region, not

all environmental conditions are equally optimal.

~N
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Should the writer make this addition here?

A) Yes, because it makes an important exception to the claim in the previous sentence.

B) Yes, because it highlights the difficulties of living both in water and on land.

C) No, because it contradicts information presented in the rest of the paragraph.

D) No, because it provides a weak conclusion to the passage by digressing from the main

point.

FR AT < ) A DRI 2B 05 O 2Tk 3k 2 ik k£ L RS Rl R R UG R B A B A R AL 2 R iR
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Fph et — ok E. HILEXT AR . C Y contradict X A1) B I 45 1% . R A ) T A B
FXENE, ARG RAAGE. HikiE D,

7% 2. Paleontologists are using modern technology to gain greater understanding of the
distant past. With the aid of computed tomography (CT) scanning and 3-D printing, researchers
are able to create accurate models of prehistoric fossils. 1 These models have expanded
rescarchers’ knowledge of ancient species and 2 swear to advance the field of paleontology in the
years to come.

At this point, the writer is considering adding the following sentence.

Fossils provide paleontologists with a convenient way of estimating the age of the rock in
which the fossils are found.

Should the writer make this addition here? (& 1)

A) Yes, because it supports the paragraph’s argument with an important detail.

B) Yes, because it provides a logical transition from the preceding sentence.

C) No, because it is not directly related to the main point of the paragraph.

D) No, because it undermines the main claim of the paragraph.

AT . b — AR ULRHIE A G n] LUAIF CT #1 3D 1 3k Hh RS v i S8 Hir Al Ao B8, T — /) 58 3 S A Y
REWS 9™ R ARHIE A S 5C T il AR A A9 03RS B R A B focus J2 5ok SE3T B0 R T Bty ok RO R B 1] LA 45
P Z R AR fF B TS R N A2 56 T fossil 1Y, 5 B FA) FARME B TE5C, I HESCT &) v i AR R
these models #51X -4 H1 Y accurate models, Ji SCHA E #EME , A% g3 itk 7). &2 480€ CH D,.D
FY 3 DX A 0 5 T AR B B SRR 8 B T B S B ARG R S TR AR ARG, B
PLE$E C 1ET,

f# 3.CT scanners use X-rays to map the surface of a fossil in minute detail, recording as
many as one million data points to create a digital blueprint. A 3-D printer then builds a polymer
model based on this blueprint, much as a regular computer printer reproduces digital documents on

paper. 3 Whereas the head of an ordinary computer printer moves back and forth while printing

ink onto paper, the corresponding part of a 3-D printer moves in multiple dimensions while

squirting out thin layers of melted polymer plastic.

The writer is considering deleting the underlined sentence. Should the sentence be kept or
deleted? (1 3)

A) Kept, because it helps explain why X-rays are used in CT scanners.

B) Kept, because it provides details to illustrate how a 3-D printer works.

C) Deleted, because it contradicts the passage’s information about digital blueprints.
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D) Deleted, because it creates confusion about how researchers gather data.

FRAT - I 2 A0 HT— R ZEF 3D T ERAILAY A J BRAR AR 8 A4 H A AT EDAIL . SR MG Y /) - U Y
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IR 4. Boss Tweed’s Tammany Hall group, which controlled New York 15 City in the
1860s—stole more than $ 30 million, the equivalent of more than $ 365 million today. 16 Tweed

had been elected to a single two-year term in Congress in 1852. Tammany Hall was so powerful and

17 corrupt that, the New York Times, commented®There is absolutely nothing . . . in the city

which is beyond the reach of the insatiable gang.”
The writer is considering deleting the underlined sentence. Should the sentence be kept or
deleted? (1 16)
A) Kept, because it introduces the quote from the New York Times in the next sentence.
B) Kept, because it adds a vital detail about Tweed that is necessary to understand his power.
O) Deleted, because it blurs the focus of the paragraph by introducing loosely related information.
D) Deleted, because it contains information that undermines the main claim of the passage.
R AT - I 26 40) O BT S DR R ER & Boss Tweed 19 Tammany Hall, 1 53R 3 A 8] T 9F0 2 K &
Boss Tweed. iz A\ ) 8 H Fliz AASTE— A focus B, A EHFEAH . ZEPE CH D, DM
undermine A 5% , AT BB HI 5. FIiE C,

5 @ 5. Artists such as these Brooklyn performers find that crowdfunding exacerbates

problems that already exist. 26 Work, that is easily understood and appreciated, is supported,

while more complex work goes unnoticed. 27 Time that could be used creating art is spent
devising clever perks to draw the attention of potential contributors. 28 In addition, audiences

may contain many “free 29 riders,” they did not make contributions.

At this point, the writer is considering adding the following sentence.
Crowdfunding tends to attract contributors from a wide variety of professional fields.
Should the writer make this addition here? (8 27)
A) Yes. because it gives more information about the people who donate to crowdfunding
campaigns.
B) Yes, because it reinforces the writer’s point about the funding of artistic projects.
C) No, because it fails to take into account project funding received from public institutions.
D) No, because it blurs the focus of the paragraph by introducing a poorly integrated piece of
information.
fEfr . b — /) iE FE 2P complex work Jo A ER, T — /4] £ B P AR AL TE 20 AR G AE 10 i a) B 8 2%
FEBCTH/N B A B T, B A ERFE Y problem ; 3 A 9 4] §J2& crowdfunding BEGE I 51 17 fY
SRR .5 LR AINA TR, BT LA B . ki D,

4. Quantitative Information %[z 5
i 2 iz FH P 3R HP %) BSO8R Ol T i SCEE B IR P



SAT 157 5 43 1

FFERRETR.

Which choice offers an accurate interpretation of the data in the graphs?
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BIRE 1.

Crowdfunded Projects on Kickstarter in 2012
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Adapted from “These Were the Most Successful Projects on Kickstarter Last Year.” ©2013 by The Economist Newspaper Limited.

Which choice offers an accurate interpretation of the data in the graphs?

A) The project category with the lowest amount of money raised was also the most

successfully funded project category.

B) The project category with the highest average pledge amount was also the most successfully

funded project category.

C) The project category with the lowest average pledge amount was also the project category

that raised the most money.

D) The project category with the highest average pledge amount was also the project category

with the most money raised.

R AT LR R AE 33 R, RNZ S B 5 — L, SCE AR R /& Rethinking Crowdfunding in the
Arts s 2 SCHAEIE ] — R 1E  RBETE AR GER A1, ZARATERE ., BRPITUEL. B
P& L 2% 3 £k e /b 19 /& dance, T 7E 55 = B L RZD R e U L2 dance, IESFAF 6 SCE WL AT, AR ZE X0 T
ZAREBAE LR, FM, HHEERE A E,

10 -



